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1. The decimal number 43.5 lies between

(i) {45.,46} (ii) {44,45} (iii) {42,43} (iv) {43,44} (v) {41,42}

2. The value of 7.8 X 4.06 is
(i) 31.4680 (ii) 31.7680 (iii) 31.5680 (iv) 31.6680 (v) 31.8680

3. Which of the following fractions converts to a terminating decimal?

O S0 G i) - v = ) o
| 9 1 18 11 3 \% 33 \ 40

4. Round off the decimal 9240.50647 correct to four decimal places
(i) 9240.5066 (ii) 92405.0647 (iii)) 9240.5064 (iv) 924.05065 (v) 9240.5065
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5. Express 184 as a decimal correct to 4 decimal places

(i) 0.0218 (ii) 0.3218 (iii) -0.0782 (iv) 0.2218 (v) 0.1218

6. The value of 9.04 x 10.2 is
(i) 92.0080 (ii) 92.1080 (iii) 92.3080 (iv) 92.4080 (v) 92.2080

7. Find the period of the recurring decimal 3.4

(i) 1 (i) O (i) 2 (iv) 4 (v) 40
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8. Express 5 as a decimal correct to 2 decimal places

(i) 22.27 (ii) 0.22 (iii) 2.33 (iv) 2.23 (v) 2.03

9. 18.5644 X = 1532.4541
(i) 82.548 (ii) 81.548 (iii) 83.548 (iv) 80.548 (v) 84.548
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10. Express 2 as a decimal correct to 2 decimal places

(i) 1.05 (ii) 1.25 (iii) 0.12 (iv) 1.35 (v) 12.5

11. Round off the decimal5891.89916to the nearesthundredths
(i) 5891.89 (ii) 5891.91 (iii) 5891.88 (iv) 5891.90 (v) 5891.92

12. The value of 7.004 + 1.03 is
(i) 8.134 (ii) 7.834 (iii) 8.034 (iv) 8.234 (v) 7.934
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Which of the following is true?

(i) 98.414+94.997=9349.034758 (ii) 54.527+4.355=50.172 (iii) 49.506%20.529=2.412

(iv) 87.551+55.802=1.569 (v) 98.606x%33.229=2.967

Round off the decimal 7201.62399 correct to two decimal places

(i) 7201.61 (ii) 7201.62 (iii) 7201.63 (iv) 720.162 (v) 72016.24
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Express 59 as a decimal correct to 2 decimal places

(i) 0.85 (ii) 0.95 (iii) 0.55 (iv) 0.75 (v) 0.65

386.65 + = 78.27
(i) 2.94 (ii) 6.94 (iii) 3.94 (iv) 4.94 (v) 5.94

Sort the following decimals in ascending order
1.0285,1.0332, 1.0091, 1.0135, 1.0870, 1.0769

(i) 1.0332,1.0135,1.0870,1.0285,1.0769,1.0091 (ii) 1.0135,1.0091,1.0332,1.0769,1.0870,1.0285

(iii) 1.0135,1.0285,1.0870,1.0091,1.0769,1.0332 (iv) 1.0091,1.0135,1.0285,1.0332,1.0769,1.0870

(v) 1.0870,1.0285,1.0769,1.0091,1.0135,1.0332

Which of the following is a mixed recurring decimal?

(i) 18.55555555555555... (ii) 7.55555555555555... (iii) 23.80952380952381... (iv)

(v) 19.38095238095237...

-7.208 + = 68.872
(i) 75.08 (ii) 77.08 (iii) 74.08 (iv) 78.08 (v) 76.08
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Express - 3 as a decimal correct to 4 decimal places

(i) 3.3333 (ii) 3.5333 (iii) 3.4333 (iv) 3.2333 (v) 3.1333

Find the H.C.F of the following decimal numbers26.88, 47.04, 20.16
(i) 5.72 (ii) 4.72 (iii) 7.72 (iv) 6.72 (v) 8.72

5.874 — = -69.856
(i) 77.73 (ii) 73.73 (iii) 76.73 (iv) 75.73 (v) 74.73

40.18 x = 3222.03
(i) 81.19 (ii) 82.19 (iii) 79.19 (iv) 78.19 (v) 80.19

Multiply 9.01 with 1000
(i) 901000 (i) 90100 (iii) 9010 (iv) 90.1 (v) 901

(i) (ii) 44 (iii) Al (iv) -22 (v) 440
5 250 5

10.277777777777717...
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